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And this one comes by itself and testifies - TTTOYRY TRRY %1D2 N2 M

OVERVIEW

When two group of 0°7¥ contradict each other we believe neither group. X137 27 and
X701 27 (merely) argue what is the future status of these two groups. m»oin will
argue that the latter group should be believed over the former group; since the
*Xn2 had other options to discredit the *Xnp.

nooIn asks:
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And it is astounding! For either according to 7'’ or according to n'' we

should believe the latter group of 2>7v who contradicted the former group. The 17 should be that
the former group of 0*7v becomes 7109 X7 and the latter group of 0>7¥ should be w3 *Xx7. The reason we
should believe the *X7n2 over the *Xnp, is that the *X7n2 have
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a wn, they could have disqualified the >x»p by testifying that the Xnp are

robbers. If the *x7n3, who wish to discredit the testimony of the *X»p, would claim that they
know that the *X»p committed robbery, the ruling would be that the *X1p become 2°2105 0°7¥ and
their testimony is automatically discredited. Therefore, on account of this 1°n, the *X7n2 should
be believed when they dispute the testimony of the *Xnp.

mooIn anticipates a tangential question. There is seemingly another 21 that can be employed in
order to believe the *&7n2. The *X7n2 could have refuted (been 2°1») the *&»p by saying that at the
same time that they testified that this occurrence took place in 7°12v, they were actually with us
in 10X, If the °X7n2 would have been 217 the *Xnp, the *Xn2 would be believed and the *Xnp
would become 2°9105 0>7y. Why is maoin choosing the 13 of Xn11%1 as opposed to the 1»n of
71?7 Moo explains:
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However, with the 9% that the X702 could have been 2%1% the >xnp; with that W

we cannot believe the °x1na. The %» of 7»17 is not a valid 1». MowN explains why n17 is
not a valid wn —
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for the "X7n21 are reluctant to be 2% the *X»p lest they themselves (the X7 n32)

will also become 21 through another group of @>7v. In order for the 3 of 7217 to function,
the "X7n2 would be required to say that at the time that the *X»p are testifying that the incident (in
772v) took place, they were actually with us at a different place (*119%). However it is possible
that the "X7n2 were actually in the same place (7°72v) where the "Rnp were, at the same time. If
they would falsely claim that they (and the *X»p) were at another place (*9X) at that time, there
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is the concern that another group of 2°7¥ would be 2’ the X702 (by saying we saw you then in
1
030).

mooin will answer the original question: the *X7n2 should be believed, since they have a .
They could have disqualified the *X»p by claiming that they are 021713,
—19%9IN NI D1y DIP12 1)1 D NN

And it seems to me that we do not believe a % where it contradicts 2°7y. The
question was that the 13°» that the *X7n2 have should completely nullify the testimony of the *&np.
A 13°» does not have the ‘strength’ to nullify o°7v.
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(And furthermore) [f0r3] a 1°» cannot assist them (the °X7n2) any more than

two (additional) witnesses who will agree to what the *X7n2 say. A 1n is certainly no more
powerful than two witnesses. If two more 0>7v will come and testify that the *&7n2 are saying the truth;
that will not change anything. It will still be considered an nwmnsm M7y —
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And even if a hundred 2°7¥ would be with the *x7n2, they will not be believed
any more than the *Xnp, who consist of two 27y, for two 07V are like a hundred

0°>7Y. Therefore, since even if there were additional 2>7v supporting the X702, they still would
not be believed any more than the *X»p, then certainly a 1°» which is not as strong as two 27y,
cannot substantiate their testimony.

mooIn offers an additional answer:
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And furthermore, says the ''% a »» is (not) applicable [only by one person,
however by two people, a 13°» is not applicable] —
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for the minds of both o°7v are not the same and that which this witness may

want to claim the other witness may not claim it. A wn is not applicable by o>7v.
Perhaps the *X7n2 are indeed liars; and are coming to 7"°2 to falsely contradict the M7y of the *xnp

! n the 13°n of xmIoma *509, however there is no such concern that the *x1na will be . The *&n2a could testify that
the >Xnp committed robbery at a time and place that they know for sure that they (the *X7n2) were actually there
(without — of course — observing any crime at all).
2 The X"w mn deletes the 77, indicating that this is a continuation of the first answer. Others however, disagree, and
maintain that it is a different answer (see following footnote #3).
3 A o7y opna v usually refers to a situation where one of the litigants has a 13°» to support his claim, while the
other litigant has 07y to support his claim. In such a situation it is clear that 11X X% 2°7v 23pn2 Wwn. In our case
however there are two contradictory groups of 0>7v. The purpose of the 13 is merely to verify which of these two
groups should be believed as 0°7v. Seemingly here the rule of 0>7v 012 13°1 should not apply. It is this issue that
mooIN is now clarifying.
* The "7 M3 amends this to read TRT 1397 TR PR 290wa BaR TN 27N R9R 0.
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by saying that their testimony is not true.’” The reason they are not saying the ‘better lie’ of Xmi%r is
because each one of them is concerned that perhaps his partner will not think of saying the lie of Xxm15m

SUMMARY

We do not believe the *X7n2 with a 1 that they could 705 the *Xnp with a claim of
XMI712 because; a) AR XD 27 0pna wn (Hor aR»Pd "n; or b) a wn cannot
function with two people.

THINKING IT OVER

1. Moo question is on X701 27 as well. Moo previously cited® that X7om 27
maintains 198 07 D1pR2 PYY 2 7. How can we explain moown answer here,
that 11X XS 07y D1pna Wn?’

2. Why is the *"1 not satisfied with maoI1n previous answer(s)?®

3. In a case of M "7n, if we were to follow the 1P, would that contradict n901n
assertion that x»3 *n?’

4. m»doIn states that 73°MX X2 0 2 wn. How can we reconcile this with a previous
moon,'® which claims that the 0*7v have a 13 concerning payment of rent?''

5. Why is moo1n asking his question of 13» here by the n2nn between 1" 7"1?
This is a general question concerning every >0 "n.

> We are not (necessarily) suspecting any group of (serious) collusion. Rather each 7v may come alone (due,
perhaps, to the insistence of the litigant), to discredit the other group of 0*7v. The initial reaction to discredit the *Xnp
is by denying and contradicting their testimony (and not by claiming that they are 0°1713). 2"¥ 7.
6 727 K 7" XX A7
7 See (9p MIX) 7"D0.
8 See TP MIX *"0a.
? See footnote # 8
VoA xua A7
' See »"™2 there 710 MK.
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